x w ﬂ g c& nhan phén s6 (phan sé thich hop) (phéan sb khong
R dung)

Tén: Ngay thang: Piém:
5 3 6 6
— X — = — X — =
4 9 4 7
5 5 2 7
— X — = — X — =
6 3 7 5
2 2 7 1
— X — = —_ X - =
5 4 4 3
5 4 4 4
— X — = —_ X - =
6 5 7 5
3 2 I 5
— X — = —_ X — =
77 3 6
6 7 6 2
— X — = — X — =
9 8 7 3
1 6 I 6
— X — = — X — =
3 9 4 9
5 6 7 6
— X — = — X — =
2 9 2 7
2 1 5 7
— X — = — X — =
72 8 5
1 5 2 3
— X — = — X — =
72 3 5
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% /@ g @ nhén phan sb (phan s thich hop) (phan s khong
T dang)

Tén: Ngay thang: Piém:
5 3 5 6 6 9 2
- X - = — — X == —=1]-=
4 9 12 4 7 7 7
5 5 25 7 2 7 2

X - = — =1 — — X — = —

6 3 18 18 7 5 5

2 2 1 7 1 7

— X — = — — X - = —
574 5 473 12

5 4 2 4 4 16

— X — = — —_ X - =

6 5 3 7 5 35

3 2 6 1 5 5

- X - = — - X — = —

7 7 49 3 6 18

6 7 7T 6 2 4

- X — = — — X — = —

9 8 12 7 3 7

1 6 2 1 6 1

— X — = — — X — = —
379 9 479 6

2 9 3 3 2 7

2 1 1 S 7 7

— X — = — — X — = —
702 7 8 5 8

I 5 5 2 3 2

- X - = — — X — = —

7 2 14 3 5 5

www.snowmath.com


https://www.snowmath.com

